)  Using historical data and some forecasting models, a company identifies two types of customers it serves.  The first group it calls the “steady spenders” and the second group it labels the “future loyals”.  It expects to recruit 1000 of each type for the current period (period 0).   Anticipated results are in the table below.  The first column is the time period, the second column for each cohort is the expected number active during that period, the third column the spending by an active customer, and the fourth column the incremental costs to service an active customer.

	
	Type A:  "Steady Spenders"
	
	
	Type B:"Future Loyals"
	
	

	Period
	Expected Number active
	Spending if active
	Service costs
	
	Expected Number active
	Spending if active
	Service costs

	0
	1000
	$122.00
	$25.00
	
	1000
	$45.00
	$50.00

	1
	925
	$131.00
	$27.50
	
	800
	$38.00
	$55.00

	2
	852
	$135.00
	$27.50
	
	775
	$40.00
	$45.00

	3
	774
	$135.00
	$33.50
	
	750
	$70.00
	$30.00

	4
	700
	$142.00
	$35.00
	
	735
	$85.00
	$25.00

	5
	652
	$142.00
	$38.00
	
	700
	$90.00
	$22.00

	6
	621
	$145.00
	$38.00
	
	695
	$95.00
	$18.00

	7
	595
	$145.00
	$40.00
	
	690
	$102.00
	$19.00

	8
	557
	$140.00
	$40.00
	
	680
	$102.00
	$22.00

	9
	541
	$140.00
	$35.00
	
	675
	$115.00
	$25.00

	10
	535
	$140.00
	$35.00
	
	660
	$120.00
	$25.00



a.
Using an interest rate of 13.5%, provide an estimate of the ten-year 


lifetime value for a member of each of these cohorts of customers.


b.
Which segment do you view as most profitable during year 10?


Explain your answer.

